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R RENFEHIS (A15) 2B B #H

Frx ENSEHAE: 2745 b+
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
130100 |[7ZLNC A # 8,105
dtiEE 7,685 1,500 6,185 10 1,296 972 1,188 540
RS 400 0 400 10 648
130340 [/ £ICA LA 3 12,340
dtiEE 11,610 2,000 9,610 10 1, 620 1,512 1,944 702
130400 [Z (S5 3 1,714
HE 370 0 370 10 - - - 3,564 2,700
130600 [NACA a3 1,374
il Ll 96 0 96 2 1,296 432
®me 1,278 20 1,258 Z Z. 052 2,268 432
131100 [ 3¢ ¥ 18,510
IE54 18,510 6,255 12,255 15 1,296 594 2,041 756
131700 |Fr Y ¥ 50,700
HE 34,690 1,550 33,140 10 810 432 864 378
K& 16,010 4,660 11,350 10 1,274 216 1,134 216
131800 | (F5NAE 3 1,307
Is; B 1,116 4 1112 3.6 3. 240 3,629 2,430
EE 123 123 of o2 238 76
= 45 0 45| 45 2,700
131910 [FHE 3 3,889
N 55 3 52 05 302 702 292
EE 10 0 10| 05 270
il Ll 270 0 270 1 756 324
E| 2,189 30 2,159 5 1,350 2,700 216
IR 1,175 25 1,150 5 2,430 2,700 324
131950 |B & a3 2,430
SHY 2,000 491 1,509 3 1, 404 702 1,404 324
thE 180 0 180 3 864 648
133400 |[LAR % 30,980
IE54 30,980 16,060 14,920 10 1,512 540 1,728 648
134100 | A/ % 26,953
dtiEE 4,600 1,700 2,900 5 1,242 1,026 1,512 864
25 1,445 250 1,195 5 756 1,382 810
EE 1,003 95 908 10 1,296 1,296 432
32 375 35 340 5 810 540 378




4S¥13408 B 05H (CKEIER)

R RENFEHIS (A15) 2B B #H

Frx ENSEHAE: 2745 b+
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
E 3,020 545 2,475 5 1,080 540 1,404 324
IR 15,355 4,025 11,330 5 1,350 184 1512 184
134200 |F 1 ¥ 9,000
alll 9,000 2,700 6,300 10 1,512 156 1,512 540
134300 | Al F ¥ 16,860
AR 200 0 200 4 1,782
KR 132 4 128 4 1,728 2,160 756
EE 495 425 70 5 1,944 648 1,728 1,188
=B 570 570 0 5 1,728 540
BE 6,333 964 5,369 5 Z 160 432 2,268 648
IR 3,622 290 3,332 0.4 130 86 108 65
=i 240 0 240 04 97 76
134400 |F<+ ¥ 28,385
dtiEE 7,286 0 7,286 4 864 540
FE 20 0 20 05 227
Ik B 20,440 1,464 18,976 4 1, 080 972 1,296 756
IR 512 192 320 4 648 1,296 648
134500 [E—<> 2 19,205
£E 4,097 1,809 2,288 0.15 65 [ 32 27
iR 720 0 720 0.15 49 22
134700 [&5HACL ¥ 3,905
dtiEE 300 0 300 10 1,839
£ 3,450 1,230 2,220 10 Z 624 1, 7155 2,916 1,980
®me 155 0 155 5 756 713
135100 [LNAVIF A % 88
dtiEE 84 0 84 Z - - - 3,240 2,700
£ 4 0 4 2 2,160
135500 [ -2 a3 750
3= 338 0 338 o0.18 200 81
EE 300 300 0 10 8. 424
136100 [MAL & % 19,650
EE 6,115 180 5,935 5 2. 484 1. 404 2,160 810
= % 2,705 520 2,185 5 1,944 1,080 1,944 864
136200 [ E#5Z 3 1,700
dtiEE 1,700 0 1,700 10 - - - 2,030 788
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Frx ENSEHAE: 2745 b+
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)

136210 [ A—9 4> # 2,980

dtiEE 600 0 600 10 1,145

RS 2,380 0 2,380 10 - - - 1,566 1,102
136300 B ¥ 3 685

= 1% 445 50 395 5 Z, 700 3,240 540

BRE 40 0 40 2 1,080 648

fE 200 0 200 10 1,728 810
136600 [f=F4=E 3 8,540

dtiEE 4,000 4,000 0 20 2,090

EE 4,540 4,360 180 20 3.197 540
138100 | LLM=1F ¥ 3,226

EE 490 63 427 02 81 146 54

mE 1,958 41 1917] 0.1 119 173 38
138500 |[LHLE i 1,220

R 1,190 409 781 0.2 49 21 52 27
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= ENSEHAEE: 401
(ERISHERESD)
fnfh fnfh EEHh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
240110 [/ \NDRH A # 490
=] 180 155 25 5 Z 916 2,376 2916
243120 |ZEKAEL ¥ 3,199
E351 680 680 0 10 6,696 5,832
32 765 705 60 10 5. 400 Z. 316 4,320 3,780
243140 |2KAL 3 122
REAR 57 57 of 0.5 238 194
243310 | —+tH#c4L 3 7,620
SR 7,440 5,935 1,480 5 4. 644 3. 888 4,644 4,536
244200 [FAELD 3 11,009
D 869 190 679 5 4,320 3,780 4,104 3,240
K% 9,190 7,495 1,695 5 4, 860 Z. 484 4,860 2,700
3Rl 950 144 806 4 3,780 2,700 4,644 3,780
244430 |ZEHhR~H 21> a3 250
= 250 84 166 0.5 378 378
244530 |FEH T HL 3 838
R 518 168 350 0.5 324 302 346 302
R 320 320 0 0.5 324
244650 [FIL—> % 96
EH 96 0 96| 0.4 - - - 335 324
245220 | T2V T SED % 332
PN 332 134 198] 0.3 324 248 378 216
245230 |BIESES ¥ 3,491
[IET 906 484 423 5 7,020 7,776 6,480
£ 591 560 31 035 653 594
=50 18 0 15[ 03 324
3Rl 1,039 1,039 ol 035 486 378
=i 774 739 35| 03 491 481
245240 [EA—HES % 1,277
T 679 159 520 0.4 648 486
il Ll 474 272 202 2 3,996 3,240 4,860 2,700
=l 38 38 0 2 3,564 2,700
245370 [ R RAAYER1J—A % 1,392
LE 1,152 102 1,050 2 1,944 1. 728 2,322 1,620
0 240 180 60 2 1,620 1,188 1,836 1,620
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= EN5E 401 kv
(ERISHERESD)
e e ENFE = (ke) R tExIER 5|
AH FExt Hfike) | SEWMA) ZEME) | SEE) | $EE) | =iEE)
245820 [gEh L E < % 1,277
EE 1,096 916 q 3.240 2.700 3,240 1,404
247100 |[7—I)LRAAQY B3 1,983
E4 i 468 238 8.5 11. 340 3. 564 10,260 5,400
25 1,192 1,192 8 5,616 1,728
=40 238 170 85 4,860 2,700 2,808
REAR 85 85| 85 5,400 4,320
248300 [ g LA 3 6,768
£ 4,848 3,408 16 4,536 Z. 160 4536 2,160
250 1,920 1,920 15 1,944 702
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SF134E08 H 05H OKHEH)

F A R RS T S (AE5) BHE H

R EIbng e = 12.8 %
(S I E B B )
4, . EN7EH (kg o wh5E RIS
2 4 — — filik HLAL - — — — —
AH wY5E RIS FEM AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)

101 | RERT=\ 292 63 229 Kg | 1,080 54 [ fe i 1,620 270
102 |[ZHEIZW 1,975 1,975 Kg g 2,916 324
111 [ ED 432 8 424 Kg |%hz 432 RYCI R 1,361 122
113 [ RROHH 21 2 19 Kg |&EHE 1,080 702] FeJiE 1,944 864
114 |5 -H 111 111 Kg HEE[E] 2,484 2,000
115 [HWi- 77 10 67 Kg |= 1,188 1,080[J¢ & 2,700 432
117 [i3s 1,777 406 1,371 Keg [X% 540 248[ i 3,623 54
121 [7bixE 22 22 Kg [&= 432 216

134 |7=Z 564 376 188 Kg |&fE 1,512 756 | fe i 1,620 864
140 |DIT 21 21 Kg frJE 75,600 1,466
147 [HEx O 46 10 36 Kg |&fE 6,480 2,700 E IRy - FoJiE 8,640 2,160
158 [N AED 485 1 484 Kg | 324 B 1,404 432
201 [vwbUL 396 396 Kg 5 e 1,188 200
203 |/hHL 80 80 Kg Rl 378 162
205 [#LHL 356 356 Kg HUAR 778 105
206 |1 560 560 Kg KRy 605 281
207 |SAE 40 40 Kg AbyiE 945 594
208 [0k 654 654 Kg ] 1,404 185
209 |[IHH000 305 305 Kg AN 864 691
210 [iFA Vg 252 252 Kg [|EIR 3,645 1,080

AP EIEY 209 209 Kg JEE R B - 2,052 650
222 |[OBZ 252 252 Kg B 234 90
251 [KAELA 573 247 326 Kg [E=k 2,344 1,404 | %% 5,994 2,225
252 [WAEESA 195 195 Keg |m5 2,916 1,836

254 [EDIEFESTAH 527 527 Kg FE T 1,620 864
303 [HAZEW 24 24 Kg A 576

305 |ERNOR 3 3 Kg Lo 2,484

306 [WEXD 9 9 Kg L 936

315 |7=H98 229 169 60 Kg [E=k 1,080 810[ =% 1,080

319 |&b5 1,598 82 1,516 Kg [SiR 756 T02| 5UA - B AR 864 600
332 | EA BPE 175 175 Kg E|RES 1,566 1,350
351 |&EH 50 9 41 Kg |&E 3,780 3,240| &% 16,200 3,564
354 [1ZEH 41 10 31 Kg [T 1,404 1,296] =& 2,160 945
355 [HV 150 150 Kg HEA . — 1,080 500
356 [LUA 150 150 Kg FSEL 1,080 972
357 |RHE 8 8 Kg HEE[E] 1,728 1,350
358 [KH 23 23 Kg R 2,160 1,296
401 [Hwp 101 3 98 Kg [ZHm 864 S 1,242 756




[ 402 AE 35] 35 Kg | |3 | 4,536] | 1,080]
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PO T FR YL ISR T (AN Y) B H
SFI34E08 A 050 OKHEH)

o HPERE: sl b e 2B )
04 EN7EH (kg p— Vi FHXFELS |
S i A H WO ARG et [ f| )| Zdm) - FEM () EME(E%QL Zi(1)

|

507 |[m—u e 20 20| Rs B 1,350 421
512 |k 150 150] Ke T 3,240 1,500
523 | BT 2 Ot 74 1) Ke FE 740
555 | —HSAE 200 200] Kg T 950 702
ERER 19 49 Eg 55 2,330 1,150
560 |iRi-— 26 26 g TE 1,300 3,400
566 |WENZ 51 51 Kg B =5
576  [ERSS 2,550 2,550 Kg




SF134E08 H 05H OKHEH)

F A R RS T S (AE5) BHE H

AT TR R 125 kv
(S I E B B )

0 Fe sk H05E EFS
:Stﬁ* 5 izl iﬁl (kg) _ e B \ _ 7 _ j TS| _

AH H05E RIS FEM e ED | HE ()| Z2 i) PEH EAE(ED) | FED | ZE)
701 |[BVDHA 10,520 9,515 1,005 Kg | 1,834 8100 FefiE 1,458 972
705 [7=3<D 316 316 Kg L 2,084 1,804
710 [520HRF 478 478 Kg L 936 567
751 |E i 10 10 Kg R 1,485
754 [BESAE 8 8 Kg =F 918
755 [BEHL 60 60 Kg B|&ES 792 540
756  [BEET 84 84 Kg KAy 936 889
761 [BodAEE 78 12 66 Kg | 1,562 1,481 | Fe i - Foak L 1,548 900
768 |&E7-Z 5 5 Kg FE T 2,360
801 [HEALEIF 124 124 Kg E|RES 2,106 950
802 [HaXiF 20 20 Kg JeviEE 810
805 |HE=1E 808 808 Kg B[Sz 756 367
810 |BA KT 10 10 Kg EIRES 2,376




